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NOTE: Write answers to the questions on objective answer
answer you consider correct, fill the corresponding circle A,B,C or D given in front of

each question aré given‘Which

sheet provided. Four possible answers ABC&Dto

each question with Marker or pen ink on the answer sheet provided.

1.4, HC.F of x—2 and 2 +x—6is .

(A) x*+x~6 B) x+3

2. The square root of @ —2a+11is .
@) (a+) @) a+l

3 x=0is a solution of the inequality .
A x>0 (B) 3x+5<0

4. Point (-3,-3) lies in quadrant .
(A) 1 (8) 1l

5. Mid-point of the points (2,-2) and (-2,2) is
(A) (2,2) (8) (0.0)

6. The right bisectors of the three sides of a triangle are .

(A) congruent S (B) collinear %

7 The medians of triangle cut each other in the ratio .

(A) 2.1 (B) 3:1
8. Which is order of a square matrix?

(A) 2-by-2 (B) 1-by-2

2
9. Product of[x y] ,1} is:
@) [2x+7] @ [x-27]

10. Write 4% in exponential form.

A 342 (8) V4

e [}jlgkfx2+x~6u3x-—2u}’- 11

(C) x+2 o) x-2
PR Bl a* —2a+1 2
© a-1 @ *(a-1)
IS SO /A ehiofx=0 3
(€) x+2<0 (D) x—2<0
P - UL SF (3-8 4
©) I DO v
g Sl (2,-2)51(-2,2)58 5
(€) (2.2 o 1.1

(o]

Y 2 SN BT/ A S SO

(C) concurrent Lk (D) parallel J/1#
-u_’??—/(ﬁj::a/t; ----- );—/nugé—lbxﬁ":,w 7

() 41 (D) 11
?%K.'/’G'df/uggu\/u:r 8
(C) 2-by-1 (D) 3-by-2
2
-ch.u.[x y] _1| S8
© [2¢-7] o [x+2]

- el pen it 4% A0
© 4 (D) 4

11 The value of i’ is: BP S AP
(A) 1 (B) -1 © @ *

12. If @ =n, than e wea*=n/i A2
() a=Logx” @ *=‘og" ) x="1loga" @) a="L{ogn

13. COg(m")can pe written as: Lcc\ebqf{ ------ J Log (m’) 13
(&) (Logm)’ @) miogn ) ntogm (o) Log(mn)

14. Conjugate of Surd a+ Jpis : IR Jats€ a+ Jb Foe 14
(A) —a+b ® a-b © Ja+b © Ja-b

15. What will be added to complete the square of9a’> —12ab? ?ﬁg[/ zﬂ@:wa{! SEYe) 0] ¢ 9a’ ——12ab A5
(A) -16b* ®) 1607 ) —4b’ @) 40
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o Section -1 2x18=36 Ji»
2. Write short answers of any six parts from the following. =~ 2x6=12 ;q)}faymﬂé.tzqc_éf;‘;‘b@, ]
1 23 010 ‘ 010 b 1 2 3
i. IfD"= -1 0 2 thenﬁ_ndD"' 20 11 ~Q/()5’D+ 2 0 1 P -1 0 2 fl.i
_ : 5 -10 y
ii. Is given matrix singular or non singular? D= 2 4 St et By i
ii. Represent the given number on the number line —% —% q’;;ﬂ;clﬁﬁu’v/ﬁﬁé{_; i
iv. Evaluate %' SO ISR
: 4 - <
v. Write into sum or difference. log 25;9 K -u.‘.'{ﬁf JU/QL:EL({G’:‘ R
vi. Express in ordinary notation. . 5.06x10" -u:’q;(.; 7l i
vil. Simplify: (Vr+dy)(Vx - )(x+2)(2 +57) g S i
viii. Factorize: 8 +125y° _éfjf viii
ix. Express the given Surd in the simplest form: \5/96;:6 728 -u.‘."i gﬂfg-}_’)f"yﬂglﬁﬁb Jix
3. Write short answers of any six parts from the following. 2x6=12 -d&fal&ﬁﬁd?ﬁ;éfalﬁ‘b(w .
i. Find L.C.M. 102xy°z, 85x7yz ,187xyz* -yt fiats i
ii. Solve for x. |x+ 2|-3=5- |x+2| e i
iii. Solve the inequality. 4x-103<21x-1.8 : -qflffuw/.f i
iv. Find the value of m and ¢ of the following line by ' B St y=mx+tc Sttt iv
expressing it in the form y=mx+c¢ 3x+y-1=0 ' -u_’_)f'}“u:"-'J cnim
v. Draw the grap of. y = 4x ' y=4x S e
vi- Find the mid-point of the line segment ]omlng the pomts AB2) B(T.2) -/ Pkl bl bl i
vii. Define Right Triangle. -a_{..;:tflfw,,u.fs Vil
vili. f AABC =ALMN , then find the unknownx . - g8 x (#1t3 AABC =ALMN /1 vii

ix. The given figure LMNP isa parallelogram . " X _‘LCIL'AUIUJ!?..QLMNPU:‘FJJ: ix
P ; N
Find the value of m and n. f . y -y i §nsm
, o
am+n
10
55°
L — Bman M
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4- Write short answers of any six parts from the following. 2x6=12 - /2fete L azige (e Lt 4
i. In the given congruent triangles LMO and LNO ;.6 - LLNOASLMO LS i3 i
find the unknown x and m. b -é:_,iFJ”;w»J must X (2t

Mm°12N

ii.- If 13cm, 12cm and 5cm are the lengths of a triangle, then 5cm_ul12c:m:13cmubLJJ Ll sl L i
vanfy that difference of méasures of any two sides of a < /U/Kuz LJJ Eustsnd_ 2L f] u’/d 18U

triangle is less than the measure of the third side. - : -:_t'rfc_dUJ é"

iii. Define similar friangles. ' é&}’Ju& & i
iv. Varify that the triangle having following measures of sides B I 2t i
are right-angled. a=16cm ,b=30cm , c=34cm e &l Ll S ST 4P
v. Find the value of x in the given figure. - ..u:/()’”.:‘f S x tLfTs v

6em

vi. Define Triangular Region. x _ -zér_g/."@)&b vi

vii. Find the area of the given figure. _:’::;F}”J/KLPGB: i
: 3cm
-

_ 6 cm
viil. Construct AABC in which mAB =3.2cm,mBC =42cm,mCA=52cm  SU&LABCEL vii

ix. Define centroid. - 4/7J‘ﬂ/’ Jix

Section -II . 8x3=24 (1

Note: Attempt three questions in all while Q:No.9 is compulsory: .q;‘;;us,;fdfr,é‘,;)}fayzéamrcffe,i
. (a) Solve the system of linear equation by using the matrix inverse method -u_’fd’:,u.Ju’:é'QﬁLux‘G ) 5
2x—2y=4;3x+2y=6

(b) Solve the equation for real ¥ andJ . (3-2i)(x+yi)=2(x~2yi)+2i-1 _gJFLY sX St ()

. (8.97)*x(3.95)° .
(a) Solve by the logarithm. —““3—1'\/-'5‘——(;7—‘)_ ..J/J’c,uJ(‘ g (...i’l) 6
— Va2 +2+Va* =2 Jat +2 +ad* - d{/"‘ w
B Simpk: Vot +2—Ja? 2 Jat+2 ot - .
. @) Fadtorize: (x+1)(x+2)(x+3)(x+6)-3x’ -@fdi (a7
, 3 3 .
(b Siplify: x3+x2+x+1—x3—x2+x—l "a-{’d ()
X
. (a) Solvethe equation. I 6=2 o 2 (’”ﬁz) . -a__{J’fabl/ () .8

(b) Construct AABC and draw perpendlcular bisectors of its sides. -a_f[ L e kABCEL: ()
mAB =53cm,m/A=45",m£B = 30°

). Any point on the Right Bisector a line segment is equidistant from Lyﬁﬁ',?xéngww»f&wﬁo’ﬁﬁ_gﬁ 9

its end points. OR : ' i Ll oo s

" Any poit on the Bisector of an angle is equidistant from its arms. -&ywléfb‘c,u,;iyédﬁ.ﬁ/:gwt‘ﬁéﬁ&(
' © 218-09-A- ’
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NOTE: Write answers to the questions on objective answer sheet provided. Pour possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.
2 1

1.1. Order of transpose of . ; is:
3

3-by-2 (B) 2-by-3 (C) 1-by-3
J2 0
2.1 0 28 called matrix. "
(A) zero (B) unit Sos MCalat K

3. Write 1/; in an exponential form.

® * ® el

4 Which set have the closure property w.r.t addition?

2 1

_4‘,.3»(/‘).‘:;’/“.(- g ; A6 14

(D) 3-by-1

2 ool
2

e b ’([ 0 2

(D) singular %
-’4‘,’0‘}:(/5»&)/(/; 3
7

) 2

e Mok St Grher s 4

{0} @ (-1 © o1 o) { L ‘/5'12‘}
5 (0g €= ,where e~2.718. (ez2.718) =floge 5
(A0 0.4343 €) « D) 1
6. L08y X will be equal to e oo, P08y X 6
(A) fog,z (B) log, z ) log,y (B) flog,x
7. (\[‘;’*‘\/E)(‘/a“\ﬁ;) is equal to: -4,414(\[‘;+JE)(‘/Z“/3) 7
a-b ®) o +b © o -b (D) a+b |
8. Factors of a’ —4b" are . a2 at - 4" B
(A) (a=b),(a+b),(a" +4b*) @) (a-2b),(a*+20%)
© (a=b).(a+b),(a" ~4") e (@ -267),(a +20%)
9 HCEof a*—b*and o’ —b’is : P Ak @ -5 sa* b 8
\((af-b (B) a+b ©) a*+ab+b’ o a* —ab+b’
10. LC.M of 15x%,45xy and 30x)7 is S —— Sibstssg 30xyz sl 45xy,15x° 10
(A) 90xyz ) 90x’yz () 15xyz ) 15x°yz |
11, If X is no larger than 10, then e Isdret0=dd x A 11,
(A) x28 ¥<10 O x<10 D) x>10
12. 1f(x—1,y+1)=(0,0), then (x,»)is: e ae(%,y)In(x-Ly+1)= (0,0)/1 12
a(1-1) ® (-L1) © (L) \@ (-1-1) l
13. Distance between the points (1,0) and (01)is_____. PR .Midyu((o,‘l)ul(LO)w? 13!
(A) 0 (B) 1 &2 ) 2
Y Sl Wyl ek 14

14. The right bisectors of the three sides of a triangle are
(A) congruent J g (B) collinear B
15. If two medians of a triangle are congruent then the triangle will be:
Lussisls  (B) equilateral ¢ ueyigsl~ (C) right angled N6
219-09-A-% -
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(A) isosceles

-Jﬂwu?u‘wj by »qug/fl .18

(D) parallel ()17

(D) acute angled sl/1isb
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Marks: 60 Time:2:10 Hours £ 2:10:5 60/
_ Section -I 2x18=36 Jito
2. Write short answers of any six parts from the following. 2x6=12 -d,/ffiaklifgﬁ'lzlg:_éfc_‘ﬂis(w 2
i. Factorize: 12x* —36x+27 \ ‘:;’:5; i
8 514 2 :5—
ii. Multiply the matrices. g 4 2 _e_é?}ﬂ)‘uq i
. 4 2
1 3 -1 3
ii. Find the multiplicative inverse of: 4 "{ 2 0} ) -é:.gF}"J:G’Q V1 A 2{ 2 0] i
8 A8 :
iv. Evaluate: (1) (=) sy fpred W
v. Simplify in the form a+bi. (2—3i)(3"2i) ,u_‘f/";uttf’(f a+bi v
vi. Find the value of X . log ¥t =2 -uj/ph’.:‘x’:bf X i
vii. Calculate: logs3x Log? . -’c_é?)".:—f Vi
' (x+ y) —4xy o -
viii. Reduce the rational expression to the lowest form. (x y) <t fJ’ i’uffc/ }/‘;,CV u" b i
ix. Express the surd in the simplest form. ‘5/96x6 y’ 2 ‘5/96 x°y’ Z8 -J’gu* fu/ﬁ’i?’ww ix
3. Write short answers of any six parts from the following. 2x6=12 J)/fi..atli/‘;éolﬂic—éfggﬁ‘f:bu 5
i. Find L.C.M. , 102xy*z,85% yz and187xyz’ -é?)ﬁj’uw, i
i Solve the equation. 3/2x—4~2= Yax-4-2= o-e_é/J’f.-,l,L/ i
3-5x} 1 2
iil. Solve for X, \T 373 St i
iv. Determine the quadrant of the given points. Q( -5, —2) S (2 —6) é/u“’-’ ¥ (";;Ldi/eh@\iléé,: v
v. Find the value of m and ¢ by expressing in the form Yy =mx +¢ &F}”J d/ CJmeJJIJ//qufJ y=mx+C v
3x+y-1=0

vi. Find the mid-point of the jine-segment joining the pair of points.A(9,2),B(7,2) éf $o L5 dw(mia’z,w_uf;_/;ziw v

B

vii. Find the distance between the points A(0,0), B(O -5). grk’ybdv/)ﬂw vi

viii. fAPOR =AABC then. 4 x 3 APOR=AABC /1 A i
Find X and Y. A A

-2_5;)”1’5'1; n® yo’xo,mo X

ix. Find the unknowns x°, y° ,m° and ° in figure.
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TR e,

RwP—é).-u

4- Write short answers of any six parts from the following.  2x6=12 /7 el 1721z e Utdits -4

i. In congruent triangles LMO and LNO. Find * and m.

. " _é:,{p"’/ui'd/ m
7 ii. What will be the angle for shortest distance from an L:{cqéfgcﬂayﬁébu’( E
outside point to the line. A BT
iii. Define Congruent triangles. -a_,éi.y/Uut‘}JtP i
iv. Verify that triangle having the following sides is right angled. q/&'ﬁﬁ.uﬁ}’_}@»uy’lﬂ{ Lol et
a=5cm , b=12cm , c=13cm 22l S
v. Find the value of X in the given figure. 13cm -éé)”‘d:(f x uﬁfér s .
vi. Define Altitude of height of a triangle. Sem _%e{qu (AT -
vii. Find the area of given figure. : -%{')"Jz(féﬁ S .
|
viii. Define ortho centre. ol ~¥U béf/."d/f/d;f
ix. Construct a A ABC in which mAB =3.2cm,mBC =4.2cm, mCA=52cm LA RABC s
Section -1I 8x3=24 (22

1% LLNOSLMOu S i

<.

<

viii

.ix

Note: Attempt three questions in all while Q:No.9 is compulsory: _‘LJJIJS/:U‘;’,,QQ_‘/Q;@LLZL;«WYUEJ W

5. (a) Solve by using the Cramer's rule. 4x+2y=83x-y=-1 -a:,.{d"c.u‘fdiﬁ'ﬁ/zf () 5
(216)" x(25)" .
(b) Simplify: (0_04)% -a_;{ﬂ"" ()
(438)°V/0.056 5
6. (a) Use log tables to find the value of: (388)4 ..é:,irdpcud/d}yr{@ (N 6
1 - 1 =z
(b) 1§ P =2 ++/3 then find the value of 2 =~ gl P i P= 2+3 /(L)
7. (a) Factorize: (x+1)(x+2)(x+3)(x+6)—3x2 -&5; i 7
(b) Use division method to find the square root. x* =10x* +37x* —60x+36 -é:ﬁ?:‘-"‘d/’bj?(? ;_UJ, )
x 2x
8. (a) Solve: =6 =2- 2 x#2 -’q{J’ ) 8
(b) Construct AABC and draw perpendicular bisector Lt i  LABC 2L )
of its sides. mBC =2.9cm,m/A4 =30",m/B = 60° ufaettL
9. Prove that any point on the right bisector of a line segment is u}"ndlg_iﬂt:d»fébﬂ;gf( - Belile 4(.:.,.&‘ 9
equidistant from its end points. OR L Bkl U L et
Prove that any point on the bisector of an angle is ;ué;);éuw.gﬁgwhée,:uﬂ 4{.—/}
equidistant from its arms. B o liiSal
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